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Read the article below and then answer questions 8-12.
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NEWS FOR CHOCOLATE LOVERS

We all know that eating too much chocolate can be bad for our health. But now
there's a new problem with chocolate. Soon there won't be enough of it for

chocolate lovers to enjoy.

There are two reasons for this problem. The first reason is recent changes in the
weather. Today the weather is very hot and dry in many countries. This makes
it hard to grow cocoa beans”. Chocolate companies use these beans to make
the chocolate we eat. A second reason for this problem is that people are eating

more chocolate today, especially in China and India.

Farmers are now growing a new kind of cocoa bean. They believe that this bean
can grow well in hot, dry weather. However, chocolate from this new bean isn't
as tasty as the chocolate we eat today. Chocolate companies will have to add
things like nuts and fruit to the chocolate to make it taste better. But this will

make the chocolate more expensive.

Some scientists think the situation is not so bad. They say there are still enough
cocoa beans to make the chocolate we like. So, the world's chocolate lovers

don't need to panic yet.
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Answer questions 8-12 in English according to the article. In questions
8 and 12 circle the number of the correct answer. In the other questions,
follow the instructions.

8.  What do we learn in lines 1-37
1) Chocolate is good for our health.
it) Chocolate lovers have a new problem.

i) Everyone loves chocolate.

(3 points)

9. Why is it hard to grow cocoa beans in many countries today? (lines 4-8)

ANSWER. ittt eae st m e e em sttt ee e e et e

........................................................................................................... ( 5anm |
10. COMPLETE THE SENTENCE. (lines 4-8)

Today people in China and INdia GTe ......c.ooveeeererireeeerssseessss oo s

........................................................................................................... ( ﬁpﬂmm
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PUT A v BY THE TWO CORRECT ANSWERS. (lines 9-13)
What do we know about the new kind of cocoa bean?
........ i) Chocolate from this bean tastes good.
e i) Farmers in India grow this bean.
. iii)  This bean grows well in hot, dry weather.
.. iv) It is expensive to grow this bean.

... ¥V} Companies need to add to the chocolate from this bean.
(2x6=12 points)

Chocolate lovers don't have to panic yet because (~). (lines 14-16)
i)  “there are enough cocoa beans for now
it}  more people are eating chocolate

iii) companies are making more chocolate today (6 points)
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8.  What do we learn in lines 1-37
1) Chocolate is good for our health.
@ Chocolate lovers have a new problem.
iii) Everyone loves chocolate.
(S points)

9. Whyisl(haadtogmwooooabcmminmanymuiesmday? (lines 4-8)

-------------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------------------------------------------------

(6 points)
10. COMPLETE THE SENTENCE. (lincs 4-8)
Today people in China and India are 82ting more chocolate.
(6 points)
11. PUT A V BY THE TWQ CORRECT ANSWERS. (lincs 9-13)
What do we know about the new kind of cocoa bean?
....... i) Chocolate from this bean tastes good.
........ i) Farmers in India grow this bean.
\/ i)  This bean grows well in hot, dry weather.
........ iv)  Itis expensive to grow this bean,
\/ v}  Companics need to add 1o the chocolate from this bean.
(246=12 poinits)

12. Chocolate lovers don't have 1o panic yet because (). (lines 14-16)
@ “there are enough cocoa beans for now
i)  more people are eating chocolate

ill) companics arc making more chocolate today (6 points)
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